poRter

www.porterathletic.com
888-277-7778

Check all items against Parts List

007375 - ADJUSTABLE SHOT CLOCK SUPPORT
INSTALLATION INSTRUCTIONS

at right to ensure all have been PARTS LIST
included. Shot clock supports are Item Part No. Qty. Qty. Description
supplied as either Each (for one N? UPRTO0S7S Ea1°h P;'f Shot Clock Suonort B
: : ot Clock Support Base
shot CIOCk) or Pair (fOI‘ one pair 2 FRME 00399 036 L2 1 2 Shot Clock Support Upright
of shot clocks). 3 FRME 00399 036R2 1 2 Shot Clock Support Upright
4 BRKT 00031 003 1 2  Extension Bracket
5 PLTE 00326 003 1 2 Rear Attachment Plate
Drill a 7/16" diameter hole 6 HDWE 06121 0EO 6 12 #12x 7/8" Lg. Self-Drilling, Self-Tapping Screw
through the boom on the portable 7 HDWE 01124 0EO 4 8  3/8"x 1"Lg. Hex Head Cap Screw (Grade 5)
backstop. NOTE - The hole must 8 HDWE 01221 OEO 1 2 3/8"x 4"Lg. Hex Head Cap Screw (Grade 5)
be located accurately according to 9 HDWE 01228 OEO 1 2 3/8"x 7"Lg. Hex Head Cap Screw (Grade 5)
. ; > € . 10 HDWE 05004 OEO 1 2 3/8"Flat Washer
:c'he"dlmep51ons shown in Detail 11 HDWE 04002 0E0 4 8  3/8" Lock Washer
A". This hole will be used to 12 HDWE 03057 0E0 4 8  3/8" Channel Nut
secure the shot clock support 13 HDWE 030720E0 1 2 3/8" Convex Lock Nut
base/upright to the portab]e 14 HDWE 55043 000 2 4 3/8" Nylon Flat Washer
backstop boom. See Detail "A". 15 BUSH 00078 002 2 4 Electrical Bushing
Detail "A"
o Detail "B" —
1" - A
. CENTER BRACKET
~ 12— X LEFT-TO-RIGHT =
| | O [ " ON BACKBOARD A

A}

-

7/16" DIA. THRU HOLE

A

Secure the extension bracket (#4) to the top of the backboard.
Use six #12 x 7/8" lg. self-drilling, self-tapping screws (#6)
through the pre-drilled holes in the extension bracket. Align

the top edge of the bracket with the top edge of the

backboard, and center the bracket left-to-right on the

backboard. See Detail "B".

=

TOP OF BRACKET TO = —}-
BE FLUSH WITH TOP _
OF BACKBOARD

INSTALL SCREWS
THROUGH PRE-DRILLED
HOLES IN EXTENSION

Copyright ©2011 by Porter Athletic.
All rights reserved.

BRACKET
f =
SAVE THESE INSTRUCTIONS FOR FUTURE USE
6/12/2014
INSTOO7375

Page 1 of 4



Y 007375 - ADJUSTABLE SHOT CLOCK SUPPORT

Dn En INSTALLATION INSTRUCTIONS

www.porterathletic.com
888-277-7778

CUT OFF UPRIGHTS AS REQUIRED,

Detail "C" SO TOPS OF UPRIGHTS ARE FLUSH
Secure shot clock support base (#1) to WITH TOP OF SHOT CLOCK

boom on portable backstop, and to — — _

extension bracket (#4) (from Step No. w|'T:|I-|T/§ \?vTSTTHclla'STCv}\;SEN
3). See Detail "E". @'—’ 20" TO 32" ——— ==

—®

through the support system. o

[ee]
/IP <d
I
Each shot clock support base (#1) has a DRILL HOLES IN 7 | EO | FACE OF | |
s . . UPRIGHTS FOR =k SHOT
1" diameter hole in each vertical tube. SECURING SHOT "G )
Install an electrical bushing (#15) into Ch%%; Sd
each of these holes as shown in Detail MOUNTING 82 \
nEn : : : HARDWARE 2
E". These openings will provide a NOT NG UBED. | 0= | | |
means to route the shot clock wires \ X
s

Secure shot clock (not included) to shot
clock support base (#1). Detail "C" to
the right shows a typical installation.

i
i
7

3/8" mounting hardware is provided for
shot clocks with four 7/16" diameter

mounting holes. Tighten hardware Detail "D"
securely.
ROUTING FOR
SHOT CLOCK
The shot clock wiring can be routed WIRES
through the support assembly and LEAVE EXCESS WIRE INSIDE
through the formed ribs on the portable S R Whek
backstop boom. See Detail "D". THE SHOT CLOCK AND
SUPPORT ARE FOLDED!

DOWN.!

SHOT CLOCK WIRING CAN
BE CONCEALED BY
ROUTING IT THROUGH
THE SHOT CLOCK
SUPPORT AND ALONG
THE TOP OF THE
BOOM AS SHOWN

ARY

6/12/2014
Copyright ©2011 by Porter Athletic. INSTOO7375
All rights reserved. Page 2 of 4



poRter

www.porterathletic.com

888-277-7778

007375 - ADJUSTABLE SHOT CLOCK SUPPORT

INSTALLATION INSTRUCTIONS

Detail "E"

NO. 735

BACKSTOPS

SANDWICH SHOT CLOCK
SUPPORT WELDMENT
BETWEEN EXTENSION

BRACKET AND REAR

ATTACHMENT PLATE.
p B i
® |

i

/

*¥ SNUG THIS HARDWARE, BUT DO
NOT OVER-TIGHTEN. SHOT
CLOCK SUPPORT WELDMENT
WILL PIVOT ON THIS HARDWARE,
WHEN THE SHOT CLOCK AND
SUPPORT ARE LOWERED TO
THE STORAGE POSITION.

SEE DETAIL "E".

BRACKET REMAINS
ATTACHED TO
BACKBOARD
PERMANENTLY.

A\ N\

12

L7

Copyright ©2011 by Porter Athletic.

All rights reserved.

6/12/2014
INSTOO7375
Page 3 of 4



Y 007375 - ADJUSTABLE SHOT CLOCK SUPPORT
Dn En INSTALLATION INSTRUCTIONS
www.porterathletic.com
888-277-7778

8.  Installation of shot clock supports and shot clocks is now complete.

9.  Proper operation of shot clock support is shown in Detail "H".

Detail "F" OPERATION OF SHOT CLOCK SUPPORT

LOOSEN HARDWARE JUST Q

ENOUGH TO ALLOW REAR O
PLATE TO ROTATE. ROTATE
REAR PLATE 90, TO LOWER
SHOT CLOCK AND SUPPORT
TO THE STORAGE POSITION.
IT WILL NOT BE NECESSARY —

/TO REMOVE REAR PLATE.
A

A\

10.  Give this instruction manual to an offical in charge of the facility for future reference.

THIS WARNING IS GIVEN IN COMPLIANCE
WITH CALIFORNIA’S PROPOSITION 65:
WARNING
This product contains chemicals known to the
State of California to cause cancer, birth defects
or other reproductive harm.

SAVE THESE INSTRUCTIONS FOR FUTURE USE

6/12/2014
Copyright ©2011 by Porter Athletic. INSTOO7375
Al rights reserved. Page 4 of 4



	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View12
	Drawing View16

	Sheet2
	Drawing View17
	Drawing View18
	Drawing View19

	Sheet3
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View27
	Section View A-A

	Sheet4
	Drawing View29
	Drawing View30


